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(1) ameys A= [—1 2 -1 @ frd, Al fRw wrAm
: T =1 2
2 -1, 1
FFor the matrix A= |-1 2 -~]} , AVis given by "
1 -1 - 2
(a)  1/4[ A2+6A-91 ] (b) 1/5[ -A2+6A-91 ]
(¢) /4] A*-6A+9] | (d) 1/5]A>+8A-91 |
12 3 ,
(2)ome A= [0 2 3| @ afenerae il &
0 0 2
15243
Characteristic roots of the matrix A= [0 2 3 is !
0 0 2

(a) 1,0,0 (b) 2,2,0
(c) 3,3,2 (d) 1,2,2

3,

@ g Al &
7
Eigen value of Matrix A = [C(.)S( 9m{) ] is: ] -\sy
sinf —cosP
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cos@  sinf J

&) SIS = |Sin9 —cos0



(a) +1 (b)  cosO
(c) +sinf (d) cosB, sinf

(4) R e & Prei— frer angita Al @ i amg Wi Aa &

(a) wwar : uwa=l (b) vEeEndd - wha
(c)a wdb e  (d) 8 A BIg AL

The cigen vectors corresponding to distinet eigen values of a Matrixare::
(a) Linearly dependent
(b) Lincarly Independent
(¢) Both (a) and(b)
(d) None of these

(5) FfaRa arofl @ forg [AraR A 9 CAMNINE
Calculate The Arithematic mean of following Table:-
it (Class) : 0-20 20-40 40-60 60-80 80-100
ararar (Frequency ) : 2 7 10 3 3

(a) 42.6
(b) 48.4
(¢) 43.7
(d)44.8

(6) fietletia i) A arw {daetd A e fBISG -
Calculate Standard deviation from following data :-
41,44,45,49,50,53,55,55,58,60

(a)5.97 @mam(approx.) (b) 8.21 @m(approx.)
(€)9.47 @mrT(approx.) (d) 10.3 @ eri(approx.)

(7) fmi 3@ Dr -0 [ e
(a) Aren =3 mitad-2 FEAD
(b) wfea@T = 3 Gged -2HTA
(¢) agerd = e + HIfeu®]
(d) dieten = Juifeadt - 247

Which is true of the following:
(a) Mean = 3 median -2 mode

(\ , (b) Median =3 mode -2 mean
f‘ A (¢) Mode =mean + median
5 (d) Mode = 3 median-2 mean
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(8).2,6,18,54,162 &1 o #iey @ -
Geometric Mean of 2,6,18,54,162 is

(a)16  (b)17
(c)18  (d) 19

(9) 5,10,15,20 &1 evrcHd "Ry &
Harmonic Mean of 5,10,15,20 is

(a)9.599  (b) 13.437
(¢)17.831 (d)19.21

(10) v urdl @ Wapa yz fawn wwen = @t urfaaer @ -

The Probabilty of getting an odd number when a die is thrown is :-
(a)0  (b)1/2
(¢c)1/3 (d)1

(11) fiber &1 S1g uervr &g 93 8 -
Fisher's z-Test Formula is :-

1-r

1
(a) zz;loch .

1

(b) Z:'z'loge(l+r)
1 1+r

(c) z-—;logcﬁ

(d) z=5loge (19

(12) Coshz @1 &r @ -
Value of coshz is :-
e*~e~?
(2)
(b) e*
(c) e7?

(d)e?‘ te”%

2

(13) wWaxo  Mdx + Ndy =0 @ aeaw (Exact) 89 @ fag smavad ufda- 2
The Necessary Condition for the equation Mdx+Ndy =0 to be exact is :
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(14) srawas afiarv -iX + Py =Q P 3R Q, x @ wad & & aeaed i & -
ax

Differential Equation Ti—/ + Py = ,PandQare functions of x only, have the
¢

integrating factor :-

(a) elQdy

(b) e fdy
(C) e JQdx
(d) e [Pdx

(15) (4D%-4DD+ D?) Z = ex+2y & forv fady gad & —
Particular Integral of -

A
<

(a)»ge“zy

x?— , '
(b) = exy :

2
(¢) g R

2
X .
(C) _i; eX‘/.y

(16) afe a=(2,-10,2)
b=(3,1,2) qn
c=(2,1,3) & a aRkaax(bxc) & a3 &
I a=(2,-10, 2)
b=(3,1,2)and
¢=( 2,1, 3), Then the value of vector ax( bxc) is :

N\ (a)1 (b) -1
W ()0 il
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(17) afz R R ud g:R R, f(x)=x+2 @2 g(x)=x? A aRd ®eid & @ , (gof) &1 #r

8T
[f
value of, (gof) is :

(a) (x+2)2 (b) x2+2

(c) x+4 (d) x+2

(18) afe G uRfta gu 8 3 H, G &1 wamy Iuerg & df o (G/H) @

If G is Finite Group and H is a Normal Subgroup of G, then o (G/H) is:

o (H)
(@) © (b) 0(G).o(H)
0 (G) s
(c) o (h (d) None of these

(19) wfiawor | Ris g @fiaRor  X+-5X3+7X2+3X-7=0 & #ell &1 GpH o

Equation, whose roots are Reciprocal to the roots of equation X+-5X3+7X2+3X-7=0

(a)5 X*-7X3+3X2+2X-7=0
(b) 3X4-7X3+3X2+7X+7=0
(c) 7X4+3X3- 5X2+7X+1=0
(d)7X4-3X3-7X2+5X-1=0
(20) T1/2 @1 =1 gIdr & Valueof T1/2 is:
(a)Vm
(b)
(c)m

(d) 5
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f:R—» R and g:R = R are functions defined by f(x)=x+2 and g(x)=x*, then the




(21) 3 —+—+—+
1.2 3.4

Series —+——+—+ S
1, 3.4

(a) srwr o (Divergent series )

(b) @rfwrdt &t (Convergent series )
(¢) aleiram vl (Oscillatory series )
(d) s @ @1g 581 (None of These)

(22) iR siof 142422423+ _B
The Geometric Series 1+2+4224+234 .. ooiimeioii is:

(a) afi #oft (Convergent series )
(b) srgwmt 2oft (Divergent series )

(c) <lerrgar sioft (Oscillatory series )
(d) g7 &t o1g =& (None of These )

(23) afa f(xy) = x3+y3 -3axy, <ﬁ Pl LR IR

If f(xy) = x3+y3 -3axy, Then the value of E is:
(a) 3x2-3ay

(b) 3x2+3ay

(c) 3y2+3ax

(d) 3x2
(24) af  u =tan~? (X—3+—y3—), ar x—+yay &1 AT BT
If u=tan™?! (X3+y3) Then the value of % y%
(a)cos2u (b) tan2u
(c) cot2u (d) sin2u

_— x2+y?2 Jdu du
(25) afe  u =sin 1(::5—),?1# XEera_; b1 HIH &1

i = ojp~1 21¥2 Ju du
It u=sin (x'er ), Then the value of Xax+yay

(a)sinu (b) cosu

(c) tanu (d) cotu
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